®aiin: P-110.1150OM_kar Cocrasnen: 08.07.2015 Jucr 1 u3 3
Jbm Kon HaumeHnoBanue neranu XapakTepHcTHKa K-ro,
cxeme IOT./ U301,

1 376.01.02.02.00 | Tabnmuka MapKHUpPOBOYHAs 1

2 00.02.03.01.04 Bunt 4x16 7

3 376.05.00.03.00 Kpeimka 1

4 376.04.03.03.00 | IpyxuHa criupaibHas 2

5 00.02.03.01.51 Bunt 3x12 2

6 376.04.03.02.00 [leTka snexTpuyeckas 6x10x14 2

7 376.04.03.01.00 | Kopmyc merkonepxaTeis 2

8 376.04.00.02.00 Biiok anekTpoHHbIH 1

9 376.04.00.03.00 | IMmactuna 1

10 376.05.00.01.00 | Kopmyc pybanka 1
11 | 00.02.04.01.14 Bunt Mb5x12 2
12 | 376.04.00.01.00 | Tpy6bka 06x20 1
13 00.10.02.03.02 [IHyp MUTaHMS C BIJIKOM HO5RN-F 2x1,0 mm2 1
14 10.04.00.02.00 TpyOka 3amuTHas 1
15 10.04.00.03.00 [Tnanka dukcannu uHypa 1
16 | 00.02.03.01.03 Bunt 4x14 2
17 | 00.10.01.01.05 Boixntouartens B c6ope KEDU HY27B 8(6)A 250V~5E4 1
18 | 00.02.03.01.24 Bunt 4x8 4
19 | 00.10.04.01.01 Konznencarop 0,47Mk® MEX X2 40/100/21/C 1
20 376.05.00.02.00 Pyuka-Haknagka 1
21 376.04.01.01.00 Haxoneunuk BeiBoJa cratopa 2
22 376.04.01.02.00 | TpyOxa TepmoycamoyHas @3 2
23 376.04.01.00.00 | CraTop B cGope ¢ apoccesIsiMu 072x50 1
24 | 00.01.01.01.19 IMoAmMITHUK MapHKOBBIiT 608.2RS (8x22x7) 1
25 | 00.02.03.01.36 BunT 4x70 2
26 376.04.02.02.00 Konbio nmeuiezamutHOE 1
27 376.04.02.01.00 | SIKOpbH C BEHTHIATOPOM 043x50 1
28 376.04.00.04.00 | Oumadparma 1
29 276.05.01.05.00 | Kpsimka pydku nepeaHei 1
30 376.05.01.03.00 | Iaiixa perynupoBo4Has 1
31 276.05.01.04.00 Pyuxa nepenusis 1
32 376.05.01.04.00 | Kpblika mikaibl TyOUHbI CTPOTaHUS 1
33 | 376.05.01.05.00 | IItudr ?4x9 1
34 276.05.01.10.00 [pyxwuna @3,5x12x0,5 1
35 376.05.01.06.00 [kana rryOuHBI CTPOTaHUS 1
36 | 00.02.04.01.02 BunT M4x12 4
37 | 00.02.02.02.37 [aii6a 010,8x05,2x1,2 2
38 376.05.00.07.00 Kpsimika 3amuTHas 1
39 376.05.00.08.00 | Ipyxuna kpy4yeHus 1
40 376.05.00.05.00 Ornopa 3agHsist 1
41 | 376.05.00.06.00 | ItudpT O5x12 1
42 | 00.02.03.01.71 Bunr 5x14 6
43 | 376.05.01.02.00 | Ipyxuna 025,5x45x03,5 1
44 376.05.01.01.00 Onopa noaBuxHast 1
45 276.05.00.13.00 | IlpyxwuHa Kpy4eHUs 1
46 276.05.00.14.00 | Omnopa mapxkoBOYHAs 1
47 | 00.01.01.01.20 [NoAMMIHUK MAapUKOBBIH 6000.2RS (10x26x8) 1
376.03.01.00.00 | ®pesa B coope 1

48 | 376.03.01.01.00 | Kopmyc ¢ppe3sl 053,6x108 1

NHTEPCK{ON

Karastor 3armacHBIX YacTEH U3 OAEITHUS

JericTBuTENEH c:
08 UIOJIA 2015 .

PYBAHOK PYT—IHO\I:/'I
SITEKTPUYECKUNA

P-110/11509M




®aiin: P-110.11509M_kat |

Cocragren: 08.07.2015 |

Jluct 2 u3 3

49 376.03.01.03.00 | ITnanka peryiupoBodYHast HOXa 2
50 | 376.03.01.02.00 | Hox cTporaibHblil TBEpJOCIIIaBHbIN 110 (1Ba 3amacHbIX) 4
51 | 376.03.01.04.00 | Kuun 2
52 10.03.01.05.00 BUHT peryimpoBOYHbBII M5x8-T6 4
53 00.02.04.02.01 Bonr M5x7 6
54 376.03.00.02.00 BuHT cnenuanbHbINH M5x10 4
55 | 00.01.01.01.30 [NoAMMIHUK MApUKOBBIH 6201.2RS (12x32x10) 1
56 | 00.01.01.01.31 INoAMMIHUK MAapUKOBBIH 6200.2RS (10x30x9) 1
57 | 376.03.00.01.00 | IIuT npoMex}yTOUHBI 1
58 | 00.02.04.01.04 Bunt M5x20 3
59 | 00.02.03.01.08 BunT 4x25 3
60 376.03.00.03.00 IIxuB BeAOMBII @31,5 1
61 376.03.00.04.00 [ITkuB Bexymmit @20,7 1
62 376.03.00.05.00 | Pemens npuBoIHOM PJ @254x12mm (SpyubeB) 1
63 376.05.00.04.00 Koxxyx pemenHoii nepeaauu 1
64 376.01.02.01.00 Tabimuka ororumn 1
65 | 376.02.00.02.00 | ITaTpyOoK CTPYKKOOTBOASIINI D35x040 1
66 10.02.01.03.00 BuHT OaparikoBbIii M6 2
67 10.02.00.01.00 Ynop danbuessrii 1
68 10.02.01.02.00 Kponwreiin 1
69 10.02.01.04.00 BuHT cnennanbHbIi Mé6x16 1
70 10.02.01.01.00 JluHeiika HampaBIIAIOIIAS 1
71 10.02.01.05.00 Taiika O6apamkoBast M6 1
72 376.02.00.01.00 Kitrou raeunsrit S=8 1
74 | 376.03.00.05.00 | PemeHb MpHUBOAHON (3aMaCHOMN) PJ ©254x12mm (SpyuneB) 1

NHTEPCK{ON

Karastor 3armacHBIX YacTEH U3 OAEITHUS

JericTBuTENEH c:
08 UIOJIA 2015 .

PYBAHOK PYT—IHO\I:/'I
SITEKTPUYECKUNA

P-110/11509M




®aiin: P-110.11509M_kat |

Cocrasnen: 08.07.2015

Jluct 3 u3 3

VHTEPCK{N

Karastor 3armacHBIX YacTEH U3 OAEITHUS

JericTBuTENEH c:
08 UIOJIA 2015 .

PYBAHOK PYT—IHO\I:/'I
SITEKTPUYECKUNA

P-110/11509M




	Винт барашковый 
	Кронштейн

